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@® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab+ b?
@)(a-b)a+b)=a?-p?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b? = (a+b)? - 2ab
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1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12
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(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*

® (a-b)(a®>+ab+b?) =a® - D>
®

(a+b)(a® —ab+b*) =a® +b?
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(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*
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(x3 +ax +2)(x® + bx + 2)

= x5+ bx* + (a+2)x3 + (ab + 2)x® + (2a + 2b)x + 4
(x2 9] AF)=(x* AF)=00]B=
ab+2=0,a+2=0

et g =-2, b=1

La+b=-1




5. &Z+b*+c2=9 ab+bc+ca=9, a+b+co Ze?

® -3vV2 @ -2v3 ®)+3v3
@ +3v2 ® V6
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(a+b+c)* =a*+b*>+c* +2(ab + bc + ca)
=94+ 18 =27

“a+b+c=+3V3




6. xt+ytz=1lwyt+yztz=20z=3<¢ ™, (x+ 1)y +1)(z+1)
o] = kit
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(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7




7. AALabcoA A a+b+c=2,a>+b*>+c* =6, abc = -1
A ], a3 + b+ 9] F2?

@11 @ 12 ® 13 @ 14 ® 15
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(a+b+c)?=a%+b?+ 3+ 2(ab + be + ca)
ab+bc+ca= -1

a+ b+ 8

= (a+b+c)(a®+b?+c?—ab - bc - ca) + 3abc
—2x(6-(-1))-3=11




8. a+bt+c=0, a®+b*+c? =19 W, 4(a®b? +b*c® +?a?) 9] 727
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(a+b+c)?=a*+b?+c?+2(ab + be + ca)

1
. ab+bc+ca:—§

4(a’*b* + b*c? + ?a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—4><(‘5> =1




9. HE AP elo] 36, ZHol7E56 ) A=A o] it o] dol=?
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A5 7z, Az, Eol& A4 a, b, ¢ 5L
4(a+ b+ c) = 36, 2(ab + bc + ca) = 56
(a+b+c)?=a®+b?+c?+2(ab + be + ca)
a®>+b%+c* =81-56=25
- (A2 Bol) = VEF P T

= V25=5




10.

A a,b,col st a+b+c=6,a? +b* + % =128 4S5

a®+b° + ¢ 2 e Fsha?

@ 8 @ 16 @24 @ 36 ® 42
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FA @+ b+ = (a+b+c)?-2(ab+ bc + ca) ol FoIH
45 st

(ab + be + ca) &) F-2 F-SHH (ab + be + ca) = 12

a® + b3 + ¢ = 3abc = (a+ b+ ¢)(a* + b*> + ¢* — ab — bc — ca)
oA

a’>+b?>+c?—ab-bc-ca=00E=2

1

5 (@=b2+(b-c+(c-a)?} =0
ca=b=c=20°1B2 B +b+c=2
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Al A2 9] ol & a, b, c2t ST
2(ab + bc + ca) = 52
d(a+b+c)=36 > a+b+c=9
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= /(a+b+c+)?-2(ab + bc + ca)
= V81 -52 = V29
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(<, x>0)
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® 20 @ 21 ® 22

@ 19

=33-3x3=18




14, x+y=4, xy =32 W, 2 —xy +y* 9| g5 Fstole.
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-xy+y?=(x+y)2-3xy=7







